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Question ID:- 1

Read the passage given below and answer the question that follow.

The yearly festival was close at hand. The store room was packed with silk fabrics, gold
ornaments, clay bowls, sweet curd and platefuls of sweetmeats. The mother was sending gifts to
everyone. The eldest son, a government servant, lived with his wife and children in far oft lands.
The second son had left home at an early age. As a merchant he travelled all over the world. The
other sons had also split up over petty squabbles except the youngest son who was bored and
stood at the door all day long, waiting and watching. His mother drew him to her and said, “This
is all I have in my hands. It is the most precious of all”.

Why did the woman’s eldest son not attend the festival ?
(1) He had quarrelled with his mother.

(2) His work place was at a great distance from his home.

(3) His leave was not sanctioned.

(4) He was not on good terms with his youngest brother.
Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

Read the passage given below and answer the question that follow.

The yearly festival was close at hand. The store room was packed with silk fabrics, gold
ornaments, clay bowls, sweet curd and platefuls of sweetmeats. The mother was sending gifts to
everyone. The eldest son, a government servant, lived with his wife and children in far oft lands.
The second son had left home at an early age. As a merchant he travelled all over the world. The
other sons had also split up over petty squabbles except the youngest son who was bored and
stood at the door all day long, waiting and watching. His mother drew him to her and said, “This
is all I have in my hands. It is the most precious of all”.

Why did the woman's second son travel ?
(1) He was restless by nature.

(2) He was rich and could afford to travel.
(3) He avoided staying at home with his mother.
(4) His job was such that he had to travel far and wide.



https://applink.adda247.com/d/XhqWf9lSap

Adda247

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8

Question ID:- 3

Read the passage given below and answer the question that follow.

The yearly festival was close at hand. The store room was packed with silk fabrics, gold
ornaments, clay bowls, sweet curd and platefuls of sweetmeats. The mother was sending gifts to
everyone. The eldest son, a government servant, lived with his wife and children in far oft lands.
The second son had left home at an early age. As a merchant he travelled all over the world. The
other sons had also split up over petty squabbles except the youngest son who was bored and
stood at the door all day long, waiting and watching. His mother drew him to her and said, “This
is all I have in my hands. It is the most precious of all”.

What did the youngest child do when his mother was busy ?
(1) He stood at the door waiting for his mother.

(2) He waited for a chance to eat sweetmeats.

(3) He helped his mother in sending out gifts.
(4)

4) He pestered his mother to give him a gift.

Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

Read the passage given below and answer the question that follow.

The yearly festival was close at hand. The store room was packed with silk fabrics, gold
ornaments, clay bowls, sweet curd and platefuls of sweetmeats. The mother was sending gifts to
everyone. The eldest son, a government servant, lived with his wife and children in far oft lands.
The second son had left home at an early age. As a merchant he travelled all over the world. The
other sons had also split up over petty squabbles except the youngest son who was bored and
stood at the door all day long, waiting and watching. His mother drew him to her and said, “This
is all I have in my hands. It is the most precious of all”.

The phrase ‘close at hand’ in sentence 1 means the same as.
(1) accessible

(2) available

(3) immediate

(4) handy
Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,
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. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Read the passage given below and answer the question that follow.

The yearly festival was close at hand. The store room was packed with silk fabrics, gold
ornaments, clay bowls, sweet curd and platefuls of sweetmeats. The mother was sending gifts to
everyone. The eldest son, a government servant, lived with his wife and children in far oft lands.
The second son had left home at an early age. As a merchant he travelled all over the world. The
other sons had also split up over petty squabbles except the youngest son who was bored and
stood at the door all day long, waiting and watching. His mother drew him to her and said, “This
is all I have in my hands. It is the most precious of all”.

Which of the following words means nearly the same as “packed’ in “The store room was packed

with =

(1) squeezed

(2) filled

(3) crowded

(4) compressed
Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 2, OptionID : -18

Question ID:- 6

Choose the word which means the same as :

Emaciated

(1) fat

(2) gaunt

(3) extinct

(4) accumulated
Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7
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Choose the option which means nearly opposite of the given word.

Conspicuous

(1) discernible

(2) visible

(3) wveiled

(4) apparent
Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8

Spot the error in the following sentence.

Whenever he goes to Mumbai he staysin five-stars hotel

(A) (B) ©) (D)
(1) (A)
(2) (B)
() (©
(4) (D)
Options:-

.1, Option ID :- 29,
. 2, Option ID :- 30,
. 3, Option ID :- 31,

« 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29

Question ID:- 9

Out of the four alternatives given below, choose the one which can be substituted for the given
expression.

Loss of memory.
(1) Amnesia

(2) Ambrosia

(3) Insomnia

(4) Trauma
Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 4, Option ID : -36

Question ID:- 10
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Outof the four options given below, choose the one which can be substituted for the given expression.
a feeling inside you which tells you what is right and what is wrong,.
(1) ambitious

(2) consciousness
(3) conscience
(4) fear

Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Question ID:- 11

The idiom ‘Bed of roses’ means a :
(1) pleasant situation

(2) tense situation
(3) difficult situation
(4) disgraceful situation

Options:-

.1, Option ID :- 41,
. 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 1, Option ID : -41

Question ID:- 12

Given below is a group of four words. Out of the four words only one word is spelt correctly.
Find the correct option.

(1) gyncology

(2) gynaecology

(3) gynacology

(4) gynecology
Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 1, Option ID : -45

Question ID:- 13
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Choose the correctly spelt word out of the four options given below.
(1) emberresed

(2) embarrased
(3) embarased
(4) embarrassed

Options:-

.1, Option ID :- 49,
. 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14

Fill in the blank with the most appropriate pronoun from the options given below.

Where is the man sold me the detergent powder yesterday ?
(1) whom

(2) which

(3) who

(4) what
Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

The underlined word in the sentence given below is used as a/an :

I brought my furniture by goods train.

(1) Adverb

(2) Noun

(3) Adjective

(4) Conjunction

Options:-

.1, Option ID :- 57,
. 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16
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In the sentence given below the underlined word is used as a/an

(1) Noun

(2) Adverb

(3) Adjective

(4) Conjunction
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

A remarkable feature of Edison’s invention was their basic simplicity.

Question ID:- 17

The underlined word in the given sentence is used as a/an :

I would gladly accompany you to railway station.

(1) Noun

(2) Adverb

(3) Adjective

(4) Verb
Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18

The underlined word in the sentence given below is used as a/an :

Whoever says SO is a liar

(1) Adverb

(2) Conjunction

(3) Adjective

(4) Noun
Options:-

.1, Option ID :- 69,
. 2, Option ID :- 70,
. 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19
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Fill in the blank with the correct form of verb given below.

Mohan, rather than his friends guilty.
(1) is

(2) are

(3) were

(4) have been

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20

Fill in the blank with the most appropriate option from those given below.

We saw some deer in the forest but we didn’t see elephants.
(1) some

(2) any

(3) a

(4) an
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 2, Option ID : -78

Question ID:- 21

Fill in the blank with the most appropriate option from those given below.

The man sitting on the stage is M.P.
(1) those

(2) a

(3) an

(4) these
Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22
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Fill in the blank with the most appropriate option from those given below.

I didn’t buy the book I needed it badly.
(1) because
(2) that
(3) which
(4) though
Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23

Fill in the blank with appropriate preposition from the options given below.

The weather is not conducive the growth of wheat.
(1) to

(2) for

(3) too

(4) of
Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24

Fill in the blank with most appropriate option.

My pet dog always sleeps my bed.
(1) under

(2) besides

(3) with

(4) after
Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25
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Choose the most appropriate option from those given below :

He was much disappointed his result.
(1) since

(2) for

(3) at

(4) of
Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Subject : GH_Q26-Q50_STENO

Question ID:- 26

et fou TRnr St ugeht Had Iuga fashed &l =ra Shifay

WA 21 GRIG HET 797 379 | T vl ¢ | Sl % sfaer & i it Srifas S seerd @
2 &R W A % g0 ford o7e Wi 30 99 g €| o6 e uRdE’ v § o 9 e off 9 e € 5
Tarfir= S9if | =l STre = 7 | YReT Hehfa o aftemn < 6t o off gfvewa #1535 favg W omor s5g
Bl @l & foF YRdT EHid S AR SF aet d HhiA-d 2

A 1 YR S Uk gl &, Fifh -
(1) urd fafaemed 9 S« 2w e

(2) Rd &1 Hrifers HH Sl @ e
(3) R AT H HHIEAT 1 ANE §
(4) A H gHL W N AT @18
Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27
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e fou Ten9T St Ut e UG faehed &R =@ Shifa
WA 21 G 3T 797 379§ T gArdt ¢ | \iedi % sfoer & s it rifos S seerdt @
% AR YA NG % 9 foel o7 W S0 99 9 ¢ | T e vRdE | ves | o d wa ot ww e € S

fafir <ol § ==l e =9 T | RdT Hekfa it it € dt oi off gfvea # 1 59 fave W omar swg
Bl @l & foF YR WEHd S SRR SF 9t a w9 £

TR o SFER 9Rd % i 8 3 off snfee € g € -
(1) 9 H RO IRt AT &

(2) UG HI RCA H YT ©

(3) THLCY | Tl ST 99 MY

(4) THCI I ot AR 9ig 9 ©

Options:-

.1, Option ID :- 105,

« 2, Option ID :- 106,

. 3, Option ID :- 107,

- 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

e fou Ten9T St Ut e U faehed Rt =@ hifa

T 31 R T o797 39§ wek gArdt © | |iedl % st | e =t e ded seed @
2 AR 9 Nd % o feel o7 Wi <u a9 g 7 ) g 9w vRde | el | o J wa ot 9w e S
fafi= <9 9 2@l e &9 70| IRATF HERiG i it <1 dr SR off gfved €1 59 favg W amar ey
Bl &l § TR RS YEH B 2R <H 9l g HE-H 2 |
TS ¥ SFER faud = faeg 2
(1) AT HHrS @i fafadar 3 Frriesa
(2) RS HHTS U HEpf 1 @HR HE
(3) T HEhfd 1 I e fasme HE
(4) A HEpfd Rl SATHR S oA Tl Hl IR

Options:-
.1, Option ID :- 109,

. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 29
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e fou TEn9T S Ut e U faehed R =a shifau

WA 21 G 3T 797 379§ T gArdt ¢ | \iedi % sfoer & s it rifos S seerdt @
% AR YA NG % 9 foel o7 W S0 99 9 ¢ | T e vRdE | ves | o d wa ot ww e € S
Tarfir S9if | 7l STre = 70 | YReT Hehfa i aftsmn 21 6t 2 off gy § 1 39 fawg W omar s5g
Bl @l & foF YR WEHd S SRR SF 9t a w9 £

TR % STER e a7 o¥ UF € -
(1) 271 4 9RA I 958 Hd 8

(2) YT YR e g

(3) 9Rd H IR 9 TR §

(4) 9Rd T Grmsd o afasreo #d &
Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

e fou Ten9T St Ut e U faehed Rt =@ hifa
WA 21 GG T 797 39 | Wk vt ¢ | Sfedi & sfaer & s it i S seerdt @
2 AR 9 Nd % o feel o7 Wi <u a9 g 7 ) g 9w vRde | el | o J wa ot 9w e S

fafir 29l & Tl STreRt = 7 | YReT HEhfa i gfiemn <1 dt & off gfvswa &1 35 favg W oar seg
Bl &l § TR RS YEH B 2R <H 9l g HE-H 2 |

‘qrE’ veg § YT B

(1) W=
(2 =
(3) ¥
(4) ¥
Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Question ID:- 31
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‘srfa+sfm’ forgen gfu-fosse 82

Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 4, Option ID : -124

Question ID:- 32

‘wew’ = wiu-fa=ae &-
(1) #He+Tm

(2) HE + 3

(3) R+ TW

(4) W&+ 3
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 2, Option ID : -126

Question ID:- 33

‘T’ & faem e &
(1) F=R

(2) EIR

(3) FrieR

(4) SR
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

Question ID:- 34
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T | g foedm wrssl =1 W8l 3l &
(1) ¥ - g

(2) wER -

(3) A - FHfd

(4) HoIH - THAH

Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
. 3, Option ID :- 135,

. 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

‘g g e o Y §-
(1) TENE

(2) SHREA

(3) vEsfa & S

(4) T B

Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Question ID:- 36

“9E= B % e I A S ol HaE o

(1) g fasrn

(2) TR

(3) @l I AR B
(4) 3H WG
Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37
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frefafead § 3 ®@Fm T gg 2 2
(1) A9 S AT

(2) HIA @RI

(3) HH e & S|

(4) F% 9 Hfvehd 2|

Options:-

.1, Option ID :- 145,
. 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

‘T e W A YA € ST | o G S T 8-

(1) dHH
(2) ¥X
(3) ¥
(4) =
Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

Question ID:- 39

(1) Teniy, e, gere
(2) GurH, feameRy, Wt
(3) TeemaRy, Ry, TeHw
(4) TRy, feameRt, s
Options:-

.1, Option ID :- 153,
. 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40
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=i, 374, AR fores wEarET v g2
(1) o

(2) =
(3) <
(4) H'MX
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 3, Option ID : -159

Question ID:- 41

(1) g% |HH

(2) HHYRH HAH
(3) Tem WA=

(4) SEEYE 99E
Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 4, Option ID : -164

Question ID:- 42

‘o’ Ig A foue g
(1) 7 % g
(2) B H HH
(3) W = Hfer
(4) WA i

Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166

Question ID:- 43
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(1) wef==®
(2) =
(3) =%
(4) Tif=®
Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

‘ferent st foren T &1 & A we e 2

(1) &I¥=
(2) &g
(3) I
(4) Wi
Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45

‘ STyt | A 8-

(1) sifse & amen

(2) eTNEEEElRd & ATl

(3) TSt smem =1 T =&

(4) TSRt 3men A #1162
Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180

Question ID:- 46
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Ty’ IIEE 1 AT SEaEH ¥ B-
(1) wmygs

(2) WY

(3) =T

(4) w4
Options:-

.1, Option ID :- 181,
. 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

‘g’ w1 EiifeT 'Y B
(1 =i
(2) @
(3) Y
(4) wfeen

Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48

TeEH TG ] IR 6
(1) =ad
(2) Sl
(3) o
(4) 3™
Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49
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Frefafes § 9 agua s 2~
(1) =i
(2) =M
(3) e
(4) Il
Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

‘T 1wy - T B
(1) T+ &

(2) T+ SR

(3) T + IR

(4) T + 3T
Options:-

.1, Option ID :- 197,

« 2, Option ID :- 198,

. 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Subject : GK_Q51-Q65_STENO
Question ID:- 51

Who has won the Pulitzer Prize - 2022 for Public Service ?
(1) Corey G. Johnson

2) The New York Times

3) The Washington Post

(
(
(4) Lisa Falkenberg

F9-2022 H wiek Hal & foan giees R e sfiar €2

(1) i ST STHEA
(2) § gk TE
(3) & =T g
(4) T wiehe

Options:-
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.1, Option ID :- 201,
. 2, Option ID :- 202,
. 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202

Question ID:- 52

The UN Climate change Conference [ COP - 27] concluded in November 2022 in which of the
following countries ?

(1) Saudi Arabia

2 Egypt

3) South Africa

4) France

(
(
(

T Y SoAary gier= Ied [Hed-27] Feer-2022 ¥ fr=fafea <ol 9 9 o 3 9 wow gan ?

(1) E3RI @
(2) fa=

(3) farr STl
(4) i

Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

As per the Economic Survey of Delhi - 2021-22, Delhi is placed at which position in terms of per
capita Income among Indian states and Union Territories ?

(1) First
(2) Second
(3) Third
(4) Fourth

feoett o ofds Tda-2021-22 % STER, WRAE T 3R Fs-vnfad gevn |, wfa-=afs o & giesm
H fooet frg T W E?

(1) w&en
(2 T
(3) &
(4) IEn

Options:-
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.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

- 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54

Scheme of Fund for Regeneration of Traditional Industries (SFURTI) is an initiative of which Ministry
of Government of India ?

(1) Ministry of Commerce and Industry

(2) Ministry of Micro, Small and Medium Enterprises
(3) Ministry of Rural Development

(4) Ministry of Panchayati Raj

e

UREfier SR ¥ S SR gAfEi 3 few s s e (e ) TR SRR o TR Heer i Ted & 7
(1) =R iR e Hae

(2) HeH, @Y IR HeEw W A

(3) il T Harer

(4) IR TS HAA

Options:-

.1, Option ID :- 213,

. 2, Option ID :- 214,

. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

What is Swasthvayu ?

(1) A covid-19 vaccine developed by India

(2) A pollution controlling equipment for house hold use

(3) A type of special mask to combat pollution

(4) A non-invasive BiPAP ventilator for treating mild to moderate covid-19 patients.

‘g R ?

(1) 9Nd & M faewfaa % Hifae-19 2

(2) =RE STER % fag ggu e 1 aren T SueE

(3) UMW § Y2 % eIy U W THE Hl HIER

(4) A< 9 HEH Tl 9% o Sifge-19 AE & sa o fau fHfifa & A-zafaa sty dfeeer
Options:-

.1, Option ID :- 217,
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. 2, Option ID :- 218,
. 3, Option ID :- 219,

. 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Question ID:- 56

Where is Indian Space Science Data Centre located ?
(1) New Delhi

(2) Chennai

(3) Hyderabad

(4) Bangalore

TR sfafet fasm grr % e fem 37
(1) 8 feeedt
(2) W
(3) eEUERE
(4) STgE
Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57

Which country, among the following, is not a member of G-20 ?
(1) Japan

(2) Mexico
(3) Saudi Arabia
(4) Egypt

frafafaa § 9 9 1 29 S1-20 #1959 T8 § 2

(1) <A
(2) HfFEeh!
(3) HIEl A
(4) o=
Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,
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- 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58

Which of the following statement/s is/are correct ?

(A) Emmanuel Macron has been elected as the new Prime Minister of Australia.
(B) Anthony Albanese is the new President of France.

Select the correct answer using the code given below :

(1) (A)only

(2)  (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

freafafad wuEl § SF- 98 % T8 8 2
(A) TS Fpra Seforn & U yumEs 74 U €
(B) Uert STesIS Wid % U Updfa o ¥ |

= e gU %2 1 9A FF HEl I H =TI H
(1) e (A)

(2) I (B)

(3) (A) R (B) I

(4) (A) 3T (B) ¥ #E el

Options:-

.1, Option ID :- 229,

« 2, Option ID :- 230,

. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

Which country won the highest number of medals in the Commonwealth Games - 2022, held in
Birmingham ?

(1) England

(2) Canada

(3) Australia

(4) New Zealand
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qY-2022 H afed | g UgHed Qe | Had 37fee ueeh foRd < A St § 2
(1) TS

(2) el

(3) sAreferan

(4) TS
Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 1, Option ID : -233

Question ID:- 60

Who is the President of Nehru Memorial Museum and Library society ?
(1)  Shri Narendra Modi

(2) Smt Droupadi Murmu

(3)  Shri Ram Nath Kovind

(4) Smt. Sonia Gandhi

s Erifieren T e e ST % s i 2

(1) = s =l

(2) et St o
(3) ot T 1Y HIfaS
(4) sl Gifan e

Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61
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Match the following Museums given under List-I with the year in which they were established,
given under List-IL

List-1 List-II
(Museums) (Year of establishment)
(A) Indian Museum, Calcutta () 1851
(B) Government Museum, Madras (I) 1955
(C) Nehru Memorial Museum and Library, New Delhi (II) 1964
(D) National Museum, New Delhi (IV) 1814
Select the correct answer using the code given below :

(1) (A)-IV), (B)-I1), (O)-(D), (D)-(IID)
(2)  (A)-(D), B)-(1), (-1, D)-(1V)
3 (A)-(IV), (B)-(@), (O)-(1I), (D)-(I)
4 (AXD), (B)-(IV), (O-(I), (D)D)

=it (1) 5 feu gu Fr=fafea duser = gt (1) 3 fau 70 37 w9 a6 8 gafod w1

e (1) = (1)
(TTge™ ) (TTTAT &)

(A) sf=am wfsrm, wHeswa () 1851

(B) TEFH= =jfeEH, "™ () 1955

(C) &% T Huererd 3R () 1964
gETshTer, 8 fegedt

(D) T HyEerE, 7 feeed (IV) 1814
i U 7T T 1 HANT L Wl S Bl =TI B

(1) (AT )()()()()(D)-(HI)
(2)  (A)-(II), (B)-1), (O-1 (D)( )
3) (A)-IV), B)-(1), (C)- III) )-(11)
4) (A1), (B}-(IV), (O)-(I1I), (D)-(IT)
Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
. 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62
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Which of the following is the correct description of the term ‘Cold Front” with reference to the
atmosphere ?

(1) Itis a transition zone in the atmosphere where an advancing cold air mass displaces a warm
air mass.

(2) Itis a transition zone in the atmosphere where a warm air mass displaces a cold air mass.
(3) Itis a transition zone in the atmosphere where a hot air mass displaces a cold air mass.
(4) Itis a transition zone in the atmosphere where a cold air mass turns into the cloud.

agHed & Hed H 'sfian’ s 1 wE faen fefafed § @ S a e ?

(1) =gHSe | 78 Uh Gl & €, el AR gl g3 Tk it o1 Hefd e =g wefd i fereenfua = e
gl

(2) TFHEH H F% U HHAY &7 §, Sl U TH 97 Hafd T wia a9 Hafd o faenfid s

(3) AgHEd H T U HHTo 45 €, W s A v e wefh v via Ay gl ) frenfug s )

(4) dSgHSE § % TH HHAU &7 T, el T wa 9 Fefa 79§ 9fivm 8 S B

Options:-

.1, Option ID :- 245,
. 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

As per Annual Report 2015-16, Forest Survey of India, Which state of India has the highest number
of Wild-life Santuaries ?

(1) Maharashtra

(2) Himachal Pradesh
(3) Madhya Pradesh
(4) Jharkhand

IRAT 9 A0 & a1fuer [Te-2015-16 % TTER, 9Rd % 78 9 H g=mml dAvgaq &t 9en g6

aaferes 22

(1) R

(2) femrm yew

(3) HA WU

(4) #RES
Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,
« 4, Option ID :- 252,
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Answer Given:- 1, Option ID : -249

Question ID:- 64

Which of the following statements about National Human Rights Commission, India is not
correct ?

(1) It was established in 1993.

(2) It does not have the power to inquire into a case at its own initiative.

(3) It does not have the power of prosecution.

(4) One of its functions is to undertake and promote research in the field of human rights.

T TE SRR ST, YR % SR § Frefafes s 8§ w1 wd 1@ e ?
(1)  SHE! T 1993 H g3 of |

(2) TEF UM AT Yo W R Hee Y Sie A # e 11§

(3) T W fvEISH i Wi T B

(4) M ATER F &3 H 9 BT I Y F F@ <A S5 FE ° U e g |

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
. 3, Option ID :- 255,

- 4, Option ID :- 256,
Answer Given:- 1, Option ID : -253

Question ID:- 65

Which of the following statements is correct ?

(1) National Commission for Minorities is a Constitutional body.

(2) National Commission for Backward classes is not a Constitutional body.
(3) National Commission for Scheduled Tribes is a Constitutional body.

(4) National Human Rights Commission, India is a Costitutional body.

Frefafad wuEi § 4 =6 o1 % T8 & 2

(1) TS SeqEes TR Uk aufes feem g

(2) U fawer il s vk Hantes e gl g

(3) U TAgfea SeSfa SR T Saefe e g
(4) T HFE SR SR, YR U Fauftes fem g

2

Options:-

.1, Option ID :- 257,
. 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 2, Option ID : -258

Subject : LR_Q66-Q85_STENO
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Question ID:- 66

The first two words are related in a certain way. Choose the correct option to replace the question
mark ( ? ) having the same relationship with the third word :

Aeroplane : Hangar : : Guns : ?
(1) Granary

(2) Cellar
(3) Armoury
(4) Wardrobe

Bl G ¥IeS U fYEd YR ¥ U gE § Hefyd € | ywAteas (( 7) i gfoeeniuy R die v 3 91y §ee

Hale M aret el fahed s 5 it
oA : fomremen : : dgdH : ?

(1) FAYIER

(2) TEEF

(3) WEFR

(4) FHUS Bl AR

Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
. 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

Choose one number which is similar to the numbers in the given set.
Given set; 435, 147, 642, 192

(1) 564
(2) 372
(3) 941
(4) 852

T Ge&1 & 997 Sifery, 51 feu o ag=g § densd % 9uE §)
ez T wg=E 435, 147, 642, 192

(1) 564
(2) 372
(3) 941
(4) 852

Options:-

.1, Option ID :- 265,
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. 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

Question ID:- 68

In the given letter series, some of the letters are missing which are given in that order as one of the
alternatives below it. Choose the correct alternative.

abab ¢ cd a_abed d ab_b ede_

(1) dbcda
(2) bdacd
(3) dbcad
(4) dbach

9 feu mu s1ew iR | #E 21aR g €, S A feu T fasmedt & fardt wen fasren # 5 #m # few g

2l
&I farey &1 =97 HifeT
abab ¢ cd a abecd d ab b cdc_
(1) dbcda
(2) bdacd
(3) dbcad
(4) dbachb
Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

- 4, Option ID :- 272,
Answer Given:- 3, Option ID : -271

Question ID:- 69

Alka introduced a man “He is the only son of the father of my sister’s brother.” How is this person
related to Alka ?

(1) Uncle

(2) Son

(3) Grand son
(4) Brother
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STTe] H U o9 § iy wEren g 88 989 6 i & faan @ w93 21 U Al s 9 TR

THR Hafed § 2
(1) =

2 T

(3) U=

(4)
Options:-

.1, Option ID :- 273,
. 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 4, Option ID : -276

Question ID:- 70

Find the missing term in the following number series.
2,12 36,80, 2 ,252 392

(1) 146
2) 150
(3) 168
@) 172

Frefafead den Jviss o o vg 7 Fifeg
2,12, 36,80, 2 , 252, 392

(1) 146
2) 150
(3) 168
(4) 172

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

- 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Question ID:- 71

In a certain code, ‘ga pa ree * means ‘roses are red’, * ka pee’ means ‘blue flowers’, ‘ree ma pee’
means ‘flowers are beautiful’. How is ‘beautiful” written in this code language ?

(1) Ka

(2) ma
(3) ree
(4) pee
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ﬁ?ﬁﬁﬁf?ﬂﬁ H ‘oa aree’ﬂeﬂ?j%‘roses are red’, ‘ka ee’ﬁeﬂ?‘i%‘blue flowers', ‘ree ma
ET gap P
pee"fﬂ&ﬁ%'flowersarebeautifﬂ'. ‘beauﬁfd'ﬁ%ﬂ%?%ﬁmmﬁ@w%?

(1) ka
(2) ma
(3) ree
(4) pee
Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

Select the combination of numbers so that the letters arranged accordingly will form a meaningful
word

M A P N Q@ L T & I
1 2 3 4 5 6

=~
oo
O

(1) 459786321
(2) 851362947
3) 851362497
4) 621359847

HeAred & T GASH &1 99 shifoy, fad s1ai sl aeTar Fafed ] W U A4 s 4
M A P N O L T C I

1 2 3 4 5 6 7 8 9

(1) 459786321

(2) 851362947

(3) 851362497

(4) 621359847

e

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73
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Find the odd one out:

(1) GfEdC

(2) QrVxZ

(3) PoNmL

(4) WvUES
frefafea § 4 faug @ FifsC
() GfEdC

(2) QrvxZ

(3) PoNmL

(4 WvUtS

Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Question ID:- 74

The first two numbers are related in a certain way. Choose the correct option to replace the question
mark ( ? ) having the same relationship with the third term.

7812135, 2

(1) 196
(2) 225
(3) 121
(4) 144

TEEl 3 HEATY U gEY § U FifvEd weR 9 et €1 wed e (7)) 1 wfienfue #1 e 0 g 9ue
Ha¥ T arel Hel fasey i =999 i

728528
(1) 196
(20 225
(3) 121
(4) 144
Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
. 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294
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Question ID:- 75

Two words given below are related in a certain way. Find out the group of words which is related
in the same way as given words.

LOVE : ELVO

(1) MUCH : CHUM
(2) BATH : HTBA
(3) UNIT : TUIN

(4) VOTE : EOTV

9 few T S e v Ffvd R A Hafua €)1 s 1 98 T T Hife, S S e Hetid B, S fe
fou e wreg;

LOVE : ELVO
(1) MUCH : CHUM
(2) BATH : HTBA
(3) UNIT: TUIN
(4) VOTE: EOTV
Options:-
.1, Option ID :- 297,
. 2, Option ID :- 298,
. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76

The first two terms are related in a certain way. Choose the correct option to replace the question
mark ( ? ) having the same relationship with third term :

GsN:7=14::I%xT:_ ?

(1) 913
2 9+17
(3) 920
(4) 7 %20

el 21 U U ffv=d yor & Hafuq § 1 991 fowg ( 2) =1 wfaeenfug o2 6t g & W19 99 994 99H 91
el faereq =1 =9 e ;

G«N:7%14::1%T:_2
1) 9x13
2) 917
(3) 9 20
@) 7%20
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Options:-

.1, Option ID :- 301,
. 2, Option ID :- 302,
. 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

Find the word which can be formed by using the letters of the given word :
CONSTABLE

1) LOCATION

SUBSTANCE

BLOATED

OBSTACLE

o —
N
S St

e
p

o8 Y1 1 i 59 1= fou 7u orsg < 23&rdi =1 3UAN Tk S S
CONSTABLE

() LOCATION

(2) SUBSTANCE

(3) BLOATED

(4 OBSTACLE

Options:-

.1, Option ID :- 305,

. 2, Option ID :- 306,

. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308

Question ID:- 78

From the following group of letters, find the group of letters which is different from others ?

(1) yBDw
(20 sHJq
(3) vEGt
(4 1PRo

Frefafed @il & W9e 9, SRl =1 98 99 T hiferd s 373 4 fim

(1) yBDw
(2 sHJq
(3) vEGHt
(4) IPRo

Options:-
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.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

- 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79

‘B’ is the brother of “C’, “A” is the sister of ‘B’. ‘E’ is the brother of ‘D’, ‘D)’ is the daughter of “A’.
How is ‘B’ related to ‘E’ ?

(1) Father
(2) Uncle
(3) Brother
(4) Cousin

‘B'ER‘'C'®’,'A’'9eAT ‘B'HL‘E'YET'D' H, D' T A H BE' Y e T ?
(1) foar
(2) W™
(3) e
(4) ==

W

Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
. 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 2, Option ID : -314

Question ID:- 80

Find out how many such pairs of letters are there in the given word each of which has as many
letters between them in the word as in the English alphabet ?

HORIZON
(1) Four
(2) Three
(3) Two
(4) One



https://applink.adda247.com/d/XhqWf9lSap

Adda247

A wHIfSTE o fou T oreg H U8 el & fohd 774 € S0 9 w1 H 9edeh o 999 3 &1 18R ¢ foiaq foh
ST ST | ¥
HORIZON

(1) =R
(2) dH
(3 =
(4) TR
Options:-

.1, Option ID :- 317,
. 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 4, Option ID : -320

Question ID:- 81

A letter number series with few terms missing is given below. Choose the missing terms from the
given alternatives.

ZA2D, W_20,TG_, _J10,N_5

(1) C15QM
(2) C15QL
3) DI5QM
4 DI15QL

= u ser-wen guiied T 8 val 'y e wn g 1o e § 9 36 o 1 on we =
Ffom -

ZA2D, W_20TG_,_J10,N_5

(1) C15QM

(2) €IBgL

3) DI5QM

(4 D15QL
Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82
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How many meaningful words can be formed using fourth, eighth, tenth and twelveth letters of
the word "PREPARATIONS’ using each letter only once in each word ?

(1) Three
(2) Two
(3) Five
(4) Four

¥ ‘PREPARATIONS' o =18, 31136, G8d 3R dREd S1& hl ST iteh Teha- LYY 28 91 571 Hehd
2, fomt v oisg H, 9oie S1eR 1 S9AIT hed U & S foRen mEn an

(H
2) =
(3) dE
(4 =R
Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

Question ID:- 83

If ‘MOUNT" is written as ‘JLRKQ' in a certain code language, then how will “"VICTORY” be written
in this code language 7
(1) SFAQLOV

(2) SEZQOLV
(3) SFZQOLV
(4) SFZQLOV

7fg forddt fAfv=d e w1 #, ‘MOUNT ' %1 ‘ JLRKQ ' fora iy, a4 39! e il § VICTORY ' &4 ferar
ST ?

(1) SFAQLOV

2) SEZQOLV

3

(

(3) SFZQOLV
(4) SFZQLOV
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 4, Option ID : -332
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Question ID:- 84

1,2,4,4,7, 6,10, 8, x, 10, 16, 12.

(1) 14
(2) 18
(3) 12
(4) 13

frfafad Sen 9ot 9§ 1’ %1 99 J19 FIfS
1,2, 4,4,7, 6,10, 8, x, 10, 16, 12

(1) 14
(2) 18
(3) 12
(4) 13

Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
. 3, Option ID :- 335,

. 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Find the value of ‘x" in the following number series :

Question ID:- 85

Choose the odd pair of words :

(1) Hare ! Burrow
(2) Igloo : Eskimo
(3) Dog : Kennel
(4) Lion 1 Den
viEgl o fawm 7 1 =9 Fife
(1) @™ faa
(2) ¥F9 T
(3) F PR
(4) fde g
Options:-

.1, Option ID :- 337,
. 2, Option ID :- 338,
. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Subject : CL_Q86-Q100_STENO
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Question ID:- 86

Which of the following is NOT a major national organisation working in the area of Computers
and Communication Technology ?

(1) NIHFW

(2) NIC

(3) NASSCOM
(4) ISPIRT

Frafafed § | %9 9 1% THE T8 W HE € S e SR AR SHerst % a9 H HEd e 82
(1) TA. 3. T3, TF. =g (NIHFW)

(2) TA. 3E. HL (NIC)

(3) TUA. T UH UH g 3. W (NASSCOM)

(4) TR, TH. Gl 7. AR . (ISPIRT)

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

« 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

Hardware is :
(1) Intangible equipment

(2) Tangible equipment

(3) Set of instructions

(4) Set of computer languages

BEPR F A & -

(1) @AaTifash ITHI (intangible equipment)

(2) amefas SUH (T angible equipment)

(3) 3T I HYE (Set of instruction)

(4) THFHZL YT sl HHE (Set of computer language)
Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 2, Option ID : -346

Question ID:- 88
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Which of the following is not an example of paragraph formatting ?
(1) Alignment

(2) Inductation

(3) Line Spacing

(4) Underline Style

Frefafad § | %1 W TEE 1 WE 3 & oy e 7 € -
(1) STEE<= (Alignment)

(2) F=MEEA (Inductation)

(3) e EHT (Line Spacing)

(4) 3ETEET WEd (Underline Style)

2

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89

The first slide of a presentation in MS-PowerPoint :

(1) always has the layout-Title Slide

(2) always has the layout-Header Slide

(3) normally has the layout -Title Slide but can be changed using slide layout task pane
(4) normally has the layout-Title Slide but can be changed using slide design task pane

Tk e U182 Toiey o Ugell TiEg gt -

(1) ¥ & 3732 (Layout) o T 2E2A TeE (Title Slide)

(2) W o A= (layout) % HY T TAEE (Header Slide)

(3) TTHRY IR T o SIS F WY A Tgg o URafdd & Hehdl §, TES o 18 2REh U9 (Slide
Layout Task Pane) % WA 5N

(4) TR S 2 F WY eI WIS S Wige fesed 2 19 (Slide Design Task Pane) % WART
Y wget = HHd T

Options:-

.1, Option ID :- 353,
. 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90
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Broadband is a convergence technology for :

(1) Voice, data and video
(2) Voice and video

(3) Only video

(4) Data and video

e e (Broad band) TEdA (Convergent) qeheieh fehseh fAw g=rT =1 STt @ -
(1) =&fF (Voice), BT (Data), 31X fafedr (Video)

(2) =AM (Voice) 3R fafed (Video)

(3) e fafedl (Video)

(4) BRI (Data) 3R fafead (Video)

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 1, Option ID : -357

Question ID:- 91

A software that prohibits unauthorized access to your computer or network via the Internet

is

(1) Spyware

(2) Popup blocker
(3) Firewall

(4) Spam assassin

EECED (Network) = FT2 o HIPIH H A9k HE 4 I Ug9 (Unauthorized access) I AT
[IHET (Software) Tl & ?

(1) FEER (Spyware)

(2) 9199 SR (Popup blocker )

(3) FEEA (Firewell)

(4) M TEHITEA (Spam assassin)
Options:-

.1, Option ID :- 361,
. 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 3, Option ID : -363

Question ID:- 92
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The key and key can be used in combination with other keys to perform
special tasks in a computer.

(1) Cul, Alt

(2) Tab, Ctrl

(3) Function, Tab

(4) ESC, Alt

ferdlt P | &l (Key) 3 i (Key) =1 T8 WART 379 &1 (Keys) o €Y
ferdr =T (Special Task)e fera ez s gl

(1) Cul, Alt

2) Tab, Ctrl

(2)
(3) Function, Tab
(4) Esc, Alt

Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

What is the function of the Ctrl+]I short-cut key combination in MS-word ?
(1) To increase the font size of the selected text

(2) To add an interim gap between selected text
(3) To make the selected text in italics
(4) To make the selected text in bold

TH. TH. F€ (MS Word) H Cirl+], Shorteut key =1 3w 4N %l #1 &4 (Function) & ?
(1) & 78 2= (Text) T AR AHR (Font Size) TG

(2) o TS L (Text) H HdRH R (Interim gap) S

(3) Y E THZ (Text) =l 2Mgeferd (ltalics) H wiafdd e

(4) T T TR (Text) Tl T (Bold) FAMT

2

Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 3, Option ID : -371

Question ID:- 94
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What is the correct expansion of the abbreviation HDMI ?

(1) High-Definition Multimedia Interact

(2) High-Definition Multichannel Interface

(3) High-Definition Multiple Interface

(4) High-Definition Multimedia Interface

HDMI 1 qui &9 311 & ?

(1) =% efFer Aedivifed 3=w® (High-Definition Multimedia Interact)

(2) ®BE SfEer AediEaa $2Uhd (High-Definition Multichannel Interface)

(3) % SftRvM Hediuel 3=0hY (High-Definition Multiple Interface)

(4) ®© SfE1vE HedHifea $=2Uhs (High-Definition Multimedia Interface)
Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
« 3, Option ID :- 375,

- 4, Option ID :- 376,
Answer Given:- 4, Option ID : -376

(1)
2

(2)
(3)
(4)

(1)
(2)
(3)
(4)

Question ID:- 95

parties can access it and the unauthorized cannot.

et AT AT (Parties) & g™ 1 ek, STAIMEHA Wl 7 |

Options:-

.1, Option ID :- 377,
. 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

is the process of encoding a message or information in such a way that only authorized

Compression
Encryption

Authentication
Validation

& Wikl & freeh A1eam & W Hew S F=1 i 39 YR § TS (Encoding) a1 s fo

FEYA (Compression)
ThIEYRT (Encryption)
SAZTRTH (Authentication)
aferes (Validation)

Question ID:- 96
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Which of the following is not an operating system ?

(1) Safari

(2) Windows
(3) Unix

(4) i0S

fafrferfiaa & § - e faeen (Operating System) 7@l & -
(1) ¥ HRI (Safari)

(2) fa==rst (Windows)
(3) I (Unix)

(4) TR 3. WH. (i05)
Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97

If you have four pendrives A, B, Cand D with 1TB, 1PB, 1GB, and 1EB storage capacity respectively
then which of them has the highest storage capacity ?

(1)
(2)
(3)
(4)

N gpPpw

7fg 2A9% UM IR UAgREd (Pendrives) @ — A, B, C, D f59H 1TB, 1PB, 1GB 3R 1EB %H¥: €IS
(Storage) &HAT &, 1 S7H W foruah! Hafess WRitsT &Fal & 2

(1) B
(2) A
3) D
(4) C
Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98
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Study the 3 options given below and identify which of them allow an online shopper to be sure
that he/she is using a secure website.

(i)  Check the url-if it begins with https then it is secure
(ii) Check for the Padlock icon before the url

(iii) Check for the type of the domain - if it ends with .com then it is secure

(1) All three options are correct ways
(2) (i) and (ii) are correct options

(3) (i) and (iii) are correct options

(4) (i) and (iii) are correct options

ﬁﬁm?ﬁ?ﬁ?@ﬁqﬁﬁ?qﬁﬁﬁ?ﬁﬁﬁqﬁmww(On]jneShopper)Eﬁﬁﬂﬂ%ﬁ
I GUEA (Secure) SHHE (Website) o1 =2 foha1 &2

(i) gEA url i SR B, B https § SR R, g8 YHvEd w9 T gl T

(i) UBA YSdld AEHA (Padlock icon) i FSdel i T url T ST

(iii) &Sl S (Domain) 1 YHR &1 ISl &L AfE T8 .com T THE T 1 78 G T

(1) =eft faesheq w&t @01 )
(2) (i) R (i) T& foekey E)
(3) (i) 3T (iii) W& forapea €1
(4) (i) MR (iii) W& fasmeq €1
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 2, Option ID : -390

Question ID:- 99

A mathematical technique used to validate the authenticity and integrity of a message, software or
digital document is )

(1) Digital Signature

(2) Crytography
(3) Hash function
(4) Encryption
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FE-1 "R 71 fefSea g (Software and digital document)Ts Ui faft (mathematical
technique) 1 YA & Forad ot gewr &t safereprianan méﬂmaﬁﬁ%mm?{ =

(1) fefsest fai=x (Digital Signature)

(2) EEMTH (Crytography)

(3) &S %M (Hash Function)

(4) EAMFIA (Encryption)

Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

Memory that loses its contents when the power is switched off is known as :

(1) Static

(2) Random
(3) Volatile

(4) Nonvolatile

ferstett farg s st WS fawe o |fd § (Loss of content from memory) @l Il 2, 98
FHEAT © -

(1) =feH (Static)

(2) ¥TeH (Random)

(3) d@fed (Volatile)

(4) M dienfed (Non-volatile)

Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 3, Option ID : -399

Subject : QA_Q101-Q120_STENO

Question ID:- 101

(029 +032) x 6.6

The value of — — =
095 =1.05x1.2

(1) 4.5
2) 5.2
(3) 5.4
4) 6.3
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Google Play

(029 + 0.32) x 6.6

.1, Option ID :- 401,
. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404

— = — &hl TZIFI%’ :
095 +1.05x12
(1) 4.5
(2) 5.2
(3) 5.4
(4) 6.3
Options:-

Question ID:- 102

(1) 15
2) 12
3) 9
4) 6

(1) 15
(2) 12
(3) 9
(4) 6

Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 4, Option ID : -408

The greatest number that divides 63, 75 and 93 leaving remainder 3 in each case is :

Question ID:- 103

If4J8—6J§X i
J96 4472 T+ J48

1) 37
2) 39
(3) 41

(4) 43

= a + by/3 , then what is the value of (a+b) ?
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(1) 37
(2) 39
(3) 41
(4) 43
Options:-

%/\E{_S;f(\;_g a 7+1J4_8 =a+bV3 %,?ﬁ(mb) 1 T I E ?

.1, Option ID :- 409,
. 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:-

104

0.97 x 0.97 x 0.97 + 0.03 x 0.03 X 0.03 _

(D)

~
S
A s 1 [t P = | =

Options:-

Value of oo o~ 1.04 % 0.03 + 0.03 x 0.06 5 equalto:
1

-

5 3

@ 3

1

(‘) 3

4 1

0.97 X 0.97 X 0.97 + 0.03 X 0.03 X 0.03

o HH IO T

0.97 x 1.94 — 1.94 x 0.03 + 0.03 x 0.06

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 3, Option ID : -415

Question ID:- 105
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Which of the following numbers is divisible by 99 ?
(1) 6758323
2) 6758432
3) 6758424

(
(
(4) 6758433

Frefafed § 9 ®F-5 921 99 9 fausa 22
(1) 6758323

(2) 6758432
(3) 6758424
(4) 6758433
Options:-

.1, Option ID :- 417,
. 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417

Question ID:- 106

Pipes A and B can fill a tank in 12 hours and 18 hours, respectively. Pipe C is an emptying pipe.

26
When all the three pipes are opened together for 8 hours, then 5 th part of the tank is filled up.
What part of the tank will be filled up by A and C together in 9 hours ?

(1) 12%
2 15%
3) 16%
4) 18%

BT A 3R B UH 2ot I HA: 12 52 3 18 52 H W Tahd &1 B9 C Wielt I arel 9139 § | S qi1

129 U 919 @ feu Sd, q@ 8 H2 H It %Eﬁ'ﬂm WA R A 3R C #l 9 w @y g fg =g
Al 95 H 2Rt =1 feha ST 9 Sam ?

(1) 12%
2) 15%
(3) 16%
(4) 18%
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,
. 4, Option ID :- 424,
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Answer Given:- 2, Option ID : -422

Question ID:- 107

A work can be completed by x persons in 50 days. Due to absence of 5 persons, the work was
completed in 55 days. The value of x is :

(1) 110
(2) 100
(3) 55
(4) 50

1E & x AR gR1 50 o H g o < ek €1 5 =R il Sratfd o wro, 78 % 55 f H g

T xHIAAE
(1) 110
(2) 100
(3) 55
(4) 50
Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108

The average speed of a car, a bus and a train is 72 km per hour. If the speed of the bus is 48 km per
hour, then average of the speeds of the train and the car is :

(1) 72 km/hour
(2) 76 km/hour
(3) 80 km/hour
(4) 84 km/hour

T R, T oH IR TF Eme! i $iad =l 72 ke U =521 €1 Af 59 =t 48 km Wi =1 € @
TEME! SR FR i A 1 e ¥

(1) 72 km/¥el
(2) 76 km/HI
(3) 80 km/Hel
(4) 84 km/Hal
Options:-

.1, Option ID :- 429,

« 2, Option ID :- 430,
. 3, Option ID :- 431,
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« 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

The average weight of the girls in a group is 58 kg. When 5 gitls of average weight 60 kg leave the
group or 5 girls of average weight 55.5 kg join the group, the average weight of girls in both cases
is equal. What is the number of girls, initially, in the group ?

(1) 35
(2) 40
(3) 45
(4) 50

forelt T ¥ el o 2ied YR 58 kg B | 579 3719d YR 60 kg aTell 5 T4 992 1 31 a1 § =1 S0
R 55.5 kg A 5 @rgieR arg o e 81 st €, ar <ei feorfoed o off R sRer @1 ¥ 1 9 H, SRy
o, erefral # den fra & 2

(1) 35
(2) 40
(3) 45
(4) 50

Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,

- 4, Option ID :- 436,
Answer Given:- 3, Option ID : -435

Question ID:- 110

A number is first increased by 10% and then decreased by 10%. The number so obtained is 80 less
than the original number. The original number is :

(1) 8000
(2) 8400
(3) 8800
(4) 9000

T He1 § 98l 10% & gfg =1 Sl & a2 R 10% i el 1 Sl 81 39 TR W Hen gd §en 9
80 FH ¥ A WS T :

(1) 8000
(2) 8400
(3) 8800
(4) 9000
Options:-

.1, Option ID :- 437,
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. 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111

The income of Ajay is T 45000. He saves 18% of the income. Vijay’'s expenditure is 20% more than
Ajay’s expenditure and his savings is T 3420. Vijay’s income is what percent more than the income

of Ajay ?
(1) 5.7%
(2) 6%
(3) 7%
(4) 7.5%

ST HI 3T T45000 T & 79T 9 1 18% 9= & | faea o1 @H 919 F @H 9 20% e § 3R
a8 T 3420 F96 1 fasE 1 31 15" i ™ 9 fopad ufaw sy €2

(1) 5.7%
2) 6%
(3) 7%
(4) 7.5%

Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112

An article was sold at T 600, making a profit of 20%. The cost price of the article was :

(1) T 720
(2) T 640
(3) T 500
(4) T 480

IS T 20% HT AT W F gL, T 600 H S TE | 3T T FH HT T o

(1) T 720
(2) T 640
(3) < 500
(4) T 480
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
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. 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113

A shopkeeper allows a discount of 20% on the marked price. What price must be marked on an
article costing ¥ 3360, so as to make a gain of 25% ?

(1) T 5300
(2) ¥ 5250
(3) ¥ 5050
(4) T 4950

g GRMIR Sifehd Tod T 20% i P2 31 €1 T 3360 ! TN % o arel Uk o W o goxt siferd
oo <rg, @fes 25% @ W 8 2

(1) T 5300

() T 5250
(3) T 5050
(4) T 4950

Options:-

.1, Option ID :- 449,
. 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

A sum of T 9240 is divided between A, B and C such that the ratio of C’'s share to the combined
share of A and B is 3 : 8 and the ratio of B’s share to the combined share of A and Cis 2 : 5. What
is the share of A ?

(1) T 5160
(2) T 4620
(3) T 4080
(4) T 5040

%9240 ! T T A, B 991 C H 39 WK =idl Sl € o C & 971 =1 A 3R B o Hgo 901 § 31U
3:8% AR B UM A 3 C F HgFd WM H SHUE2:5F1 A H GO FE?

(1) T 5160
(2) T 4620
(3) T 4080
(4) < 5040
Options:-

.1, Option ID :- 453,
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« 2, Option ID :- 454,
- 3, Option ID :- 455,

- 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 115

The ratio of number of boys and girls in a school of 3528 students is 5 : 4. How many more girls
should be admitted in the school to make thisratio1 :1 ?

(1) 312
(2) 392
(3) 472
(4) 552

3528 fernf¥ai o el # el i cTefeal &t HeEnsii &1 s1Ua 5 :4 T 1 39 Tha | Tt aefrr sin
Wyt =t =G o a8 S 1: 18 S ?

(1) 312
(2) 392
(3) 472
(4) 552

Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116

A loan of ¥ 21600 is to be paid back in two equal annual instalments. If the rate of interest is
16% p.a. compounded yearly, then the total interest charged 1is :

(1) < 5284

(2) T 5312
(3) ¥ 5372
(4) T 5434

% 21600 F TH U F & GHF AfE R § I ¢ Afe = F W 16% i B, X s aififw
HAfS B €, o et foraen =amst 3 Eem 2

(1) < 5284
(2y I 5312
(3) ¥ 5372
(4) T 5434
Options:-

.1, Option ID :- 461,
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. 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117

In how much time will a sum of money I 7500 earn an interest of I 150 at the rate of 4% per
annum simple interest ?

(1) 3 months
2) 4 months
3) 6 months

(
(
(4) 8 months

T 7500 1 Uah YAANRT 4% S TR0 =06 Fi &2 9 fovas 999 9 T 150 =919 SAfeig & o 2

(1) 39E
(2) 49%
3) 6H®
(4 8HR

Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467

Question ID:- 118

Which sum will provide a compound interest of ¥ 1020 in 2 years at 4% per annum interest
compounded annually ?

(1) T 13200

(2) T 12500
(3) T 12200
(4) T 12000

FE- o 2 39 § 4% ftE = Bt W H T 1020 THIE S USH FON, Sef s At gaea
g ?
(1) ¥ 13200

(2) T 12500
(3) T 12200
(4) < 12000
Options:-

.1, Option ID :- 469,
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« 2, Option ID :- 470,
. 3, Option ID :- 471,

- 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

A train crosses a platform in 20 seconds and a pillar situated on the platform in 8 seconds. If length
of the platform is 264 metres, then length of the train is :

(1) 184 m
(2) 176 m
(3) 92m
(4) 88m

T TSt fordl Wiz i 20 YU § 91 39 wiehH T figd U @9 &1 8 9ve § U F odl g1 Afg
IHH I TS 264 HieT B, @l Whet Hi wlers €

(1) 184 m
(2) 176 m
(3) 92m
(4) 88 m

Options:-

.1, Option ID :- 473,
. 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120

Two trains start from stations A and B towards each other at speeds of 100 km/hour and
120 km/hour, respectively. At the time of their meeting, the second train has covered a distance of
280 km more than that covered by the first train. The distance between the stations A and B is :

(1) 2840 km
2) 2880 km
3) 3080 km

(
(
(4) 3240 km

T Termfear wH: WY Asi B § TH gE Hi $R 100 knv/FieT 3{R 120 km/Sel &t =16l | F@ 1 GRY
A § 1 3T FE & T W gEL WrEr J Ugel erTEl g @F i T8 g | 280 km AU gl 99 W
o ot | F2eHl A 3R B o o= i gl ©

(1) 2840 km

(2) 2880 km
(3) 3080 km
(4) 3240 km
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Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 3, Option ID

:-479
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